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QUESTION 1

How can you refine your model in the Select Variables tool in Automated Analytics? Note: There are 2 correct answers
to this question. 

A. Select the model iteration. 

B. Analyze variable deviations. 

C. Simulate the model application. 

D. Display variable correlations. 

Correct Answer: AD 

 

QUESTION 2

Once the model has been generated, you must verify its validity by examining the performance indicators: 

Note: There are 2 correct answers to this question. 

A. The predictive power allows you to evaluate the explanatory power of the model, that is, its capacity to explain the
target variable when applied to the training dataset. A perfect model possesses a predictive power of 1 and a completely
random model possesses a predictive power of 0. No minimum threshold is required for the predictive power of a model.
This depends upon the context of your work, that is, your domain of application, the nature of your data and your
business issue. 26 P U B L I C Automated Analytics User Guides and Scenarios Modeling Concepts In some cases, a
model with a predictive power as low as 0.1 may allow realization of a profit of several thousands dollars. In all cases, a
positive predictive power indicates that the model generated will perform better than a random model. 

B. The prediction confidence defines the degree of robustness of the model, that is, its capacity to achieve the same
explanatory power when applied to a new dataset. In other words, the degree of robustness corresponds to the
predictive power of the model when applied to an application dataset. A model with a prediction confidence inferior to
0.95 must be considered with caution. The performance of such a model is very likely to vary between the training
dataset and the application datasets. 

C. The environment variable definition is using the POSIX standard shell sh semantic, which first defines the variable,
then exports it. To guarantee a proper functioning, The environment variable definition is using the POSIX standard
shell shsemantic, which first defines the variable, then exports it. To guarantee a proper functioning, 

Correct Answer: AB 

 

QUESTION 3

You can change the order of the nodes to accelerate the filtering process by setting the conditions with the highest
probability to be false at the top of the list. 

Note: There are 2 correct answers to this question. 

A. Select the node you want to move up or down. 

B. Use the buttons and to change its position in the filter. 
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C. If you have already installed SAP Predictive Analytics on your machine, uninstall it before installing SAP Predictive
Analytics. 

Correct Answer: AB 

 

QUESTION 4

Your company is marketing two products A and B. You have a database which contains references to: Note: There are
2 correct answers to this question. 

A. 1,500 of your customers. You know which product, A or B, each customer has purchased. 

B. 10,000 prospects. You want to know which product each customer is likely to purchase. 

C. Resources are used more fully because each modeling session has a dedicated process. The process size limit
applies only to a single user. 

D. Network administration is simplified because all network traffic from the client is directed to the server. This means
only two TCP ports need to be opened for an Automated Analytics installation. 

Correct Answer: AB 

 

QUESTION 5

Once the modeling parameters are defined, you can generate the model. Then you must validate its performance using
the predictive power. 

Note: There are 2 correct answers to this question. 

A. If the model is sufficiently powerful, you can analyze the responses that it provides in relation to your business issue
apply it to new datasets 

B. Otherwise, you can modify the modeling parameters in such a way that they are better suited to your dataset and
your business issue, and then generate new, more powerful models. 

C. The Progress Bar displays the progression for each step of the process. It is the screen displayed by default. 

D. The Detailed Log displays the details of each step of the process. 

Correct Answer: AB 
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